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Algebra 2
Ch.3 Handout 3.1

Graphing Systems of
Equations
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A system of linear equations 1s

a set of two or more equations that we use the same variables

A system 1s a linear system 1f the graph of

each equation in a system of two variables is a line

A solution to a system of linear equations 1s an
oRrdered poir-  that makes every equation in that
system true.
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Three types of linear system:

An 1independent system has

a unique solution (one solution) (one ordered pair

A dependent system does

not have a unique solution (all solutions or infinitely many solutions

An 1nconsistent system has

no solution
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Intersecting lines

One solution | _ 4 fiecent
Independent

Coinciding Lines (Same line)

All solution \\__ e
Dependent | _

= SomMml

Parallel lines

No solution wm=some
Inconsistent b= AifSereert
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1. Solve the system by graphing the equations

and finding the intersection.

a) | x+3y=2

3

3x+3y=-6
Xtdy= 2 Ny
Bu=-x22 M= 3
= s = b_;g._
\A—_-Jgs(-\-% >
B A3IY= —C
w=-ax—L M=|
% = = b= -

Cweck
“H+3(D= 2

ZEN =0
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2. Without graphing, classify each system as
independent, dependent, or inconsistent.

) <r)’:3x+2 b) [2x+y=5
9
L—6x+2y:34 \—x-|—y:2
Mm=3
‘6- 3x+Z b= Q.—\ Samec 2xAy=5 m=-2
—lLX+2y= Y ﬂ\=’.’>\ comg YT 2X +%S b=95 C\.Fhfu‘t
ZU\- (X * t..) =2 v ~——
U= Sv+2 "Xty = 2 m=|
—_ \&‘:X.‘.;\ b-__z_
‘ D‘P"‘d&“’“\ \ Trdeprndant |

Al] solutions one Solution



Handout 3.1 graphing system of equations.notebook October 26, 2015

2. Without graphing, classify each system as
independent, dependent, or inconsistent.

r3x-|-y:5 r.)/:2)(34—3
c) < d <
k15x-|—5y:2 k—4x+2y=6
IkEY=SDS  mMm=-3

Y= -3 +S b=9S
-~ @

\AS% +SU = D e A
SW="IAY + 2 o :45 At 'd\-l-{x-\-z.v\—_(‘, -2
o a - AU
W™= “3Y + /5 Y =de+ L =3

— . U= 2K+
L 1T NCONSIL Sk\ﬂ"’tj PV P -
No Sdolwh o~ A\ SOl ony
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2. Without graphing, classify each system as
independent, dependent, or inconsistent.

e) <

X—y=5

y+3=2x

X-U=5
—y=--X =5 M= |
W=x-% b=-5

[

W42 = 2 m=2

U= 2%x-3 p=->
KI‘I\MQ(N\MX
One <sluXon
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Interpreting Solutions to Systems of Equations

Graph both equations using either the x|y chart,
intercepts, or slope-intercept form

Do the graphs intersect? This is the solution! Label
your solution

Check your solution. Substitute x and y- values into

Are they the same line? Slopes and y-intercept the
same then INFINITELY MANY SOLUTIONSH!

Are the lines parallel? Slopes are the same but y-
intercepts are different then NO SOLUTION!!

e both equations/solve
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